STANLEY

TURNING YOUR HOUSE INTO A HOME

MAEVE STANDARD FLUE
GAS STOVE EXP VIEW C/W
PARTS & BOM CODES

R
oy

{_

-

aPRNoawhN

10mm I.D 199mm O.D

Standard Washer - Consumable
Burner - D00012AXX

Front Door No Grill - B00397AXX
Gas Valve Bracket - V00343AXX
Glass Clip - F00342AXX

Glass Rope - Consumable

Left Hand Side - B00392AXX
Leg - B00394AXX

. M4 x 6mm RD Head Slotted Screw -

Consumable

. M8 x 30mm Socket Hd Stud - Consumable
. M8 Brass Washer - Consumable

. M8 Cap Nut - Consumable

. M8 MS Nut - Consumable

. M8 x 12mm Hex Head Bolt - Consumable
. M8 x 30mm Hex Head Bolt - Consumable
. Med. Front Casting - B00402CXX

. Med. Glass - T00014AXX

. Med. Hob - B00393AXX

. Med. Skirt - B00398AXX

. Righthand Side - B00403AXX

. Std Flue Blanking Plate - BO0396AXX

. Std Flue Outlet - BO0395AXX

. Bracing Bar - V00344AXX

39



